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3HVDWQ\D�SHUWXPEXKDQ�GDQ�NHPDMXDQ�WHNQRORJL PHPEXND�SHOXDQJ�PXQFXOQ\D�

EHUEDJDL� DQFDPDQ�EDUX�GHQJDQ�PRGXV� \DQJ� VHPDNLQ�FDQJJLK� .HPDMXDQ�7HNQRORJL�

LQIRUPDVL�MXJD�KDUXV�GLLULQJL GHQJDQ�NHPDMXDQ VLVWHP NHDPDQDQ LQIRUPDVL�\DQJ�KLQJJD�

NLQL�PDVLK�VDMD�GLUDVD�NXUDQJ��6DODK�VDWX�NHOHPDKDQ�GDUL�VLVWHP�NHDPDQDQ�LQIRUPDVL�

DGDODK�PDUDNQ\D�SHPEDMDNDQ�SHUDQJNDW� OXQDN��%HUEDJDL� FDUD� WHODK�GLODNXNDQ�XQWXN�

PHQJDWDVL�KDO�LQL�\DLWX�GHQJDQ�PHQJJXQDNDQ�DXWHQWLNDVL�GDQ�YHULILNDVL��6DODK�VDWX FDUD�

\DQJ�WHUXV�GLNHPEDQJNDQ�KLQJJD�NLQL�DGDODK�SHQHUDSDQ�WHNQRORJL�DXGLR�ZDWHUPDUNLQJ��

3DGD� WXJDV� DNKLU� LQL� SHQXOLV� DNDQ� PHODNXNDQ� 3HUDQFDQJDQ GDQ� DQDOLVLV�

VLQNURQLVDVL�SDGD�ZDWHUPDUNLQJ DXGLR 6WHUHR %HUEDVLV�4XDQWL]DWLRQ�,QGH[�0RGXODWLRQ�

�4,0�� GHQJDQ PHQJJXQDNDQ WHNQLN� JDEXQJDQ� )DVW� )RXULHU� 7UDQVIRUP� �))7��� 45

'HFRPSRVLWLRQ GDQ�&DUWHVLDQ�3RODU�7UDQVIRUP �&37���6LQ\DO KRVW DXGLR�\DQJ�PDVXN�

DNDQ GLODNXNDQ�SURVHV�SHPEHULDQ�ELW�VLQNURQLVDVL�XQWXN�PHQDQGDNDQ�ORNDVL�ZDWHUPDUN�

\DQJ� DNDQ� GLVLVLSNDQ� SDGD� VLQ\DO� KRVW DXGLR�� VHODQMXWQ\D� DNDQ GLWUDQVIRUPDVL� GDUL�

GRPDLQ� ZDNWX� PHQMDGL� GRPDLQ� IUHNXHQVL� PHQJJXQDNDQ� PHWRGH ))7 GDQ GLXEDK�

NHGDODP�PDWULNV�RUWKRJRQDO�GDQ�PDWULNV�VHJLWLJD�GHQJDQ�PHWRGH�45��.RHILVLHQ�DNDQ�

GLWUDQVIRUPDVL�PHQJJXQDNDQ�&37�DJDU�GDSDW�WDKDQ�WHUKDGDS�EHUEDJDL�VHUDQJDQ� 6HWHODK�

LWX��GLODNXNDQ�SURVHV�HPEHGGLQJ GLODNXNDQ�GHQJDQ�PHQJJXQDNDQ�PHWRGH�4,0�

+DVLO�GDUL�SHUDQFDQJDQ�LQL�PHQJKDVLONDQ�SDUDPHWHU�WHUEDLN VHWHODK�GLRSWLPDVL�

GHQJDQ�QELW  ����1IUDPH  ������1EORFN  ��� SRVLVLZ  ��� GDQ�1EVL  ��� \DQJ�PDPSX

PHQJKDVLONDQ�NXDOLWDV�DXGLR VHFDUD�REMHFWLYH GHQJDQ UDWD�UDWD 615 ������� UDWD�UDWD�

2'* �������� GDQ� MXJD� PHQJKDVLONDQ� NXDOLWDV� DXGLR� \DQJ� EDLN� VHFDUD� VXEMHFWLYH

GHQJDQ�UDWD�UDWD�026 ������� 3DUDPHWHU�LQL MXJD�PHQJKDVLONDQ�NHWDKDQDQ�\DQJ�EDLN�

VHWHODK� GLXML� PHQJJXQDNDQ� EHEHUDSD� VHUDQJDQ� GHQJDQ� QLODL� UDWD�UDWD� %(5� VHEHOXP�

RSWLPDVL� ����� GDQ� VHWHODK� GLRSWLPDVL� %(5� PHQMDGL� ����� VHUWD� NDSDVLWDV� �&�� ELW�

ZDWHUPDUN�\DQJ�GDSDW�GLVLVLSNDQ�VHEHVDU�����O�����
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